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1. A QA sz
(1) SEE SA| 21
o of 2023t 2022stA 20218t &5
- AU | HIE®%) | UH(F) | HE%) | AAF) | HE%)
i ap =2 289,565 64.9 312,691 70.0
20 i, 419,785 99.7
o1o{ et DAl 156,478 35.1 133,889 30.0
gEN S
206,863 482 222,011 51.6 267,483 65.7
(2021 ‘L})
oy
eSS 194,798 454 170,484 39.7
(2021 ‘7})
S15f 139,429 34.3
27,305 6.4 37,304 8.7
(2021 '7})
Ao 444,887 994 445,562 99.4 419,031 99.5
A 210,528 48.6 215,482 49.8 218,154 53.7
Et apst 210,834 486 206,550 47.7 187,987 46.3
A3 + 2}t 12,012 2.8 10,960 2.5 - -
) HE2%)2 A SAIXHO| Cigt 24 9 SA|Xte| Hg2 <|O|gt

(2) At2l/atstEr 99 nt=Y SA| ¥
wol | Mo gpm 20238td T 20228tHA 20218dE 5
QA HIEZ%)| =% |[UA®D®) | HE®%) | =9 Y@@ HE%) | =%
S2le AHY | 34226 | 158 4 31,399 | 142 4 29,063 | 133 5
M=ot 22| 142,541 | 65.8 1 136,793 | 619 1 129,937 | 59.6 1
M A AL 16,457 | 7.6 8 17,552 7.9 8 19,055 8.7 8
SOFA[OFAL | 20,413 9.4 7 23,053 | 104 7 24,423 | 112 6
Atz st=X| 2| 34,489 | 159 3 41,893 | 19.0 3 44,832 | 206 3
e M A X[ 2| 25,980 | 12.0 5 31,221 | 14.1 5 35,186 | 16.1 4
ESPNL g 25,682 | 11.9 6 26,007 | 118 6 23,382 | 107 7
aH| 4,927 23 9 5,495 2.5 9 5,076 2.3 9
At3| 23t | 127,189 | 587 2 127482 577 2 124711 572 2
SAIRt &= | 216,534 - - 220,962 - - | 218,154 - -
=281 62,309 | 287 4 62,509 | 29.5 4 53,286 | 283 4
ST 70,745 | 32.6 3 73,582 | 347 3 71,815 | 382 3
MHISET 140,978 | 65.0 2 [134,726| 635 2 | 117,487 | 625 1
st X|7otstI | 146,060 | 67.4 1 136,541 | 64.4 1 116,729 | 62.1 2
et =280 2,628 1.2 8 3,006 14 8 2,796 1.5 8
ststo 2,841 1.3 6 3,317 1.6 7 2,984 1.6 7
sl e 4,939 23 5 6,515 3.1 5 6,585 35 5
X|Fatsto 2,758 13 7 3,570 1.7 6 4,056 2.2 6
SMX = 216,840 - - 212,030 - - 187,987 - -
F1) H2(%)& AtE-ItE S99 SAIXO| oot 2F at= SA|Xe| HlE&S 2lojg
F2) 2022, 20238t AR, MR SAIAL =& ALR| + tSE ZA[XE =5 1725101 Z12to| FHof gitet oI
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2. 39 53 78 ¥4 %L £ o
(1) =0 39
SE EEHS FH Q) +H HE(%)
(THH) 134 371 0.08
1 126 19,858 445
2 122 51,018 11.44
3 117 102,887 23.07
4 110 179,384 40.22
5 99 272,020 60.99
6 85 345,899 77.55
7 70 399,005 89.45
8 58 430,128 96.43
9 580] 2t 446,043 100.00
(2 == 39
SE EEHS M QA X HE(%)
(THH) 145 934 0.22
1 133 22,571 526
2 126 56,277 13.12
3 119 99,706 23.24
4 107 172,250 40.15
5 91 261,850 61.04
6 80 334,922 78.08
7 76 387,630 90.36
8 72 416,258 97.04
9 720| 8t 428,966 100.00
3) 80 39
s HqHs 5 QJE) X HE(%)
1 90 34,830 7.83
2 80 117,894 26.50
3 70 214,654 48.25
4 60 298,606 67.12
5 50 358,137 80.50
6 40 397,305 89.30
7 30 422,628 95.00
8 20 438,840 98.64
9 2002t 444,887 100.00




(4) M2+ 39

S2[et Aty M=t 22| M| A AL
S8 | BE PN 5 £ | BE PN Y | 5H® | BE PN FH | 53
H+ QJU(B) HIE%)| B+ QIA(B) HE%) H=+ A (B) HIE (%)
) 72 50 203 0.59 72 50 | 1,133 | 0.79 68 50 288 1.75
1 68 45 | 1,527 | 446 67 45 | 6470 | 454 | 66 47 1,144 | 6.95
2 65 41 | 3,830 | 11.19 | 63 41 | 17,069 | 11.97 | 64 44 | 2,228 | 1354
3 59 34 | 8472 | 2475 59 36 | 34014 | 2386 | 60 39 | 4,017 | 24.41
4 52 25 | 14,287 | 4174 | 53 30 | 59319 | 4162 | 53 29 | 6,662 | 40.48
5 45 17 | 21,114 | 61.69 | 47 24 | 87,568 | 6143 | 45 17 | 9,941 | 60.41
6 41 12 | 26,833 | 7840 | 42 19 110,047 | 77.20 | 40 10 | 13,807 | 83.90
7 39 10 |30538 | 89.22 | 36 12 132,307 | 92.82 | 38 7 15,200 | 92.36
8 37 7 132889 | 9609 | 34 10 |137,456| 9643 | 36 4 16,167 | 98.24
9 |370]2t| 70|12t | 34,226 | 100.00 |340|2F|100] 2k 142,541 | 100.00 |360]2F| 4002t | 16,457 |100.00
SOLA|OFA} e x| 2| MIA X[ 2|
58 | BZ PN A £ | BE PN o | &Y | BEE PN A 5
=+ A | HIB%) | H+ (W) HIB %) B A (B) HIE (%)
(BHH)| 65 50 | 1,320 | 647 67 50 885 | 257 | 68 50 562 2.16
1 65 50 | 1,320 | 647 65 48 | 1,797 | 5.21 66 47 1,640 | 6.31
2 63 47 | 2,812 | 1378 | 63 45 | 4799 | 1391 | 63 44 | 37142 | 12.09
3 60 43 | 4819 | 23.61 59 40 | 9435 | 2736 | 59 39 | 6,702 | 25.80
4 54 34 | 8970 | 4394 | 54 34 | 14211 | 4120 | 54 33 | 10,844 | 41.74
5 46 23 | 12478 | 61.13 | 47 25 | 20,844 | 6044 | 47 25 | 16,003 | 61.60
6 40 15 | 15813 | 7747 | 41 17 | 27,259 | 79.04 | 41 18 | 20,303 | 78.15
7 37 10 | 18,836 | 92.27 | 37 12 | 31,057 | 90.05 | 37 13 | 23,343 | 89.85
8 34 6 | 20037 | 9816 | 33 7 133795| 9799 | 33 8 | 25114 | 96.67
9 34002 60|12t | 20,413 | 100.00 |330|2F| 7002k 34,489 | 100.00 |330]2t| 80|2 | 25,980 | 100.00
BX|et H 4 Atz 23t
58 | BEZ PN A £ | BE PN £y | &Y | BEE PN ks 5
== QAB) HIEB%)| B+ QIA(B) HE%)| B+ AAU(E) HIE %)
(Bt 74 50 63 0.25 72 50 33 067 | 72 50 58 0.05
1 67 42 | 1,577 | 6.14 68 45 207 | 420 | 65 42 | 7,803 | 6.13
2 64 39 | 2903 | 1130 | 64 40 599 | 12.16 | 62 38 | 19,095 | 15.01
3 59 34 | 5956 | 23.19 | 59 34 | 1,275 | 25.88 | 59 35 | 30,783 | 24.20
4 53 27 | 10,580 | 4120 | 52 26 | 2,075 | 4211 | 54 29 | 53,919 | 42.39
5 46 19 | 16,171 | 6297 | 46 19 | 2,965 | 60.18 | 47 21 | 76,811 | 60.39
6 41 14 | 20,200 | 7865 | 41 13 | 3,942 | 80.01 | 40 13 | 99,882 | 78.53
7 37 10 | 23,285 | 90.67 | 38 9 | 4511 | 9156 | 37 9 113,961 | 89.60
8 35 7 124929 | 97.07 | 36 7 | 4737 | 96.14 | 34 6 | 122,971 96.68
9 |350|2t| 702+ | 25,682 | 100.00 | 360|2t | 70]2H| 4,927 | 100.00 |340|2H 60]2t | 127,189 | 100.00
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(5) Wt 4o
=281 3t 1
%E E-"l_s o_lx{A 'Il_'x—.ll 'Il_'xﬂ.l E-"l_s _?__Ix{)k -Il_'x—.ll 'Il_'xﬂ.l
e =aT 3(F) | HIE%) e =8T | QA@®E) | HE(%)
(2HH) 70 5 1,497 2.40 75 50 315 0.45
1 67 46 3,751 6.02 68 43 2,840 4.01
2 64 43 7,031 11.28 63 38 8,285 11.71
3 59 37 14,681 23.56 58 32 17,495 2473
4 53 29 25,523 40.96 53 27 28,685 40.55
5 46 21 37,712 60.52 47 21 42,602 60.22
6 41 15 49,027 78.68 42 15 54,845 77.52
7 38 11 55,755 89.48 38 1 63,076 89.16
8 35 7 60,791 97.56 34 7 68,905 97.40
9 350] 0t go| gt 62,309 100.00 340] 2t 70| 2t 70,745 100.00
EEREE X|Fatst 1
S8 | EE | ams | o3, | WD | EE | ams | i | LT
S QIR(H) | HIZ(%) HE =eT | o) | HIE(%)
(THE) 72 50 183 0.13 73 50 91 0.06
1 64 42 8,542 6.06 66 42 9,468 6.48
2 61 39 18,708 13.27 63 39 19,298 13.21
3 58 35 40,692 28.86 59 34 36,925 25.28
4 55 32 58,788 41.70 53 28 58,600 40.12
5 49 26 84,928 60.24 46 20 89,945 61.58
6 41 18 109,577 77.73 41 15 112,639 77.12
7 35 12 128,325 91.02 38 11 131,596 90.10
8 33 9 135,547 96.15 34 7 141,805 97.09
9 33000t 90| 2t 140,978 100.00 340] 2t 70| 2t 146,060 | 100.00
=2/sto ststo
%E'- E"'I—E A A 'II_'I—.II 'II_'I—.Il E"':‘ S| ™A -IT-I—'! -'T-I—'!
EES EET | @) | HIE%) EES EET | () | HIE%)
(THE) 71 50 7 0.27 73 50 4 0.14
1 66 43 164 6.24 66 43 117 412
2 63 40 318 12.10 63 39 356 12.53
3 59 35 659 25.08 58 34 776 27.31
4 53 27 1,154 4391 54 29 1,179 41.50
5 45 18 1,633 62.14 47 21 1,764 62.09
6 40 11 2,179 82.91 41 15 2,191 77.12
7 37 8 2,413 91.82 37 10 2,544 89.55
8 35 5 2,557 97.30 34 7 2,750 96.80
9 350/t 40|t 2,628 100.00 340] 2t 70| 2t 2,841 100.00
A asto X|#atsto
S8 HE o] X A X X BE oI A X o
My EET | Q) | HIE(%) HE =EET | Q((E) | HIE%)
(THE) 71 50 14 0.28 67 50 74 2.68
1 66 45 200 4.05 66 48 119 4.31
2 63 41 604 12.23 63 44 386 14.00
3 59 36 1,308 26.48 60 40 688 24.95
4 53 29 2,200 44.54 54 32 1,166 42.28
5 46 21 3,168 64.14 45 20 1,756 63.67
6 40 14 4,045 81.90 40 14 2,157 78.21
7 36 10 4,555 92.23 37 10 2,490 90.28
8 34 7 4,802 97.23 35 7 2,680 97.17
9 340|0F 70| 0t 4939 100.00 350]0F 70| 2t 2,758 100.00
2023 [HQ!, Mat2 2m ot2(0] HOICH 5



3. 3Y AFEs COjH] 2EHs/MES Hu(F3)
(1) 2043 g
=01 £,

HEHT =2 HEHT HEL BEEE=F HESH HEHF MES
134 100 94 33 145 100 103 56
133 100 93 32 143 100 102 54
132 100 92 30 142 100 101 53
131 100 91 29 140 99 100 52
130 99 90 28 139 99 99 50
129 99 89 27 138 98 98 49
128 98 88 26 137 98 97 48
127 97 87 25 136 98 96 46
126 96 86 24 135 97 95 45
125 95 85 23 134 97 94 44
124 93 84 22 133 96 93 42
123 91 83 21 132 94 92 41
122 89 82 20 131 94 91 40
121 87 81 19 130 93 90 38
120 85 80 18 129 92 89 37
119 83 79 18 128 91 88 36
118 81 78 17 127 90 87 34
117 78 77 16 126 88 86 33
116 76 76 15 125 87 85 32
115 73 75 14 124 85 84 30
114 71 74 14 123 84 83 29
113 68 73 13 122 82 82 27
112 66 72 12 121 80 81 25
111 63 71 12 120 79 80 23
110 61 70 11 119 77 79 21
109 59 69 10 118 76 78 19
108 56 68 10 117 74 77 16
107 54 67 9 116 73 76 12
106 52 66 8 115 71 75 9
105 50 65 8 114 70 74 7
104 48 64 7 113 69 73 5
103 46 63 7 112 67 72 3
102 45 62 6 111 66 71 3
101 43 61 6 110 64 70 2
100 41 60 5 109 63 69 1
99 40 59 4 108 62 68 1
98 38 58 4 107 61 67 0
97 37 57 3 106 59 66 0
96 36 56 3 105 58 65 0
95 34 55 2 104 57 63 0
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() M=E+ 39

— S A5 IFT =] AR SOFATOFA}
ERT [EEds | 9E9 | 5EE4 | W9 | Bt | WES| | BEEs | HES
50 72 100 72 100 68 99 65 97
48 71 99 70 99 66 96 63 90
47 70 98 69 98 66 96 63 90
46 69 97 68 97 65 92 62 86
45 68 9% 67 9% 64 89 61 82
a4 67 95 66 94 64 89 61 82
43 66 92 65 93 63 85 60 78
42 66 92 64 92 62 82 59 74
41 65 90 63 89 61 79 59 74
40 64 88 62 88 61 79 58 70
39 63 86 61 84 60 76 57 67
38 62 84 61 84 59 73 56 64
37 61 81 60 81 59 73 56 64
36 61 81 59 78 58 71 55 61
35 60 78 58 75 57 68 54 58
34 59 76 57 73 57 68 54 58
33 58 74 56 70 56 66 53 55
32 57 71 55 67 55 65 52 53
31 57 71 54 64 54 62 51 51
30 56 69 53 60 54 62 51 51
29 55 67 52 57 53 60 50 48
28 54 65 51 54 52 58 49 46
27 53 63 50 50 52 58 49 46
26 52 60 49 47 51 56 48 44
25 52 60 48 43 50 54 47 43

AmA st X| 2| MAIX 2] gx|e ZH AL3| 231
ST EEES [HMEL | EENS [WES | EENS [WES | EEHS [WES [EEHS[WES
50 67 99 68 99 74 100 72 100 72 100
48 65 9% 66 % 72 100 70 98 70 100
47 64 93 66 9% 71 99 70 98 69 100
46 63 89 65 94 70 99 69 97 68 99
45 63 89 64 92 69 98 68 97 68 99
44 62 85 63 89 68 97 67 95 67 98
43 61 83 62 87 67 95 66 94 66 97
42 60 79 61 85 67 95 65 92 65 95
41 59 75 60 80 66 93 64 90 64 93
40 59 75 60 80 65 92 64 90 63 91
39 58 71 59 76 64 90 63 87 62 88
38 57 69 58 73 63 88 62 84 62 88
37 56 66 57 71 62 86 61 82 61 83
36 56 66 56 68 61 83 60 80 60 80
35 55 62 55 65 60 81 59 76 59 77
34 54 60 54 61 59 78 59 76 58 74
33 53 58 54 61 58 76 58 73 57 71
32 52 55 53 57 57 73 57 71 56 66
31 52 55 52 54 56 69 56 69 56 66
30 51 52 51 52 56 69 55 67 55 62
29 50 50 50 49 55 65 54 64 54 59
28 49 48 49 46 54 63 54 64 53 56
27 48 44 49 46 53 60 53 61 52 54
26 48 44 48 42 52 58 52 59 51 52
25 47 41 47 40 51 55 51 57 50 48




N AEF iy FEI 1 AIare 1
=0T EFEEs | W59 | mrzu+ | WES | BEEs | W99 | mEys | 89
50 70 99 75 100 72 100 73 100
48 68 97 73 99 70 100 72 100
47 67 95 72 99 69 99 71 100
46 67 95 71 99 68 99 70 99
45 66 93 70 98 67 99 69 99
44 65 91 69 97 66 98 68 98
43 64 89 68 96 65 97 67 96
42 63 88 67 95 64 95 66 95
41 62 85 66 94 63 93 65 92
40 62 85 65 92 62 91 64 91
39 61 82 64 91 61 88 63 88
38 60 80 63 89 60 85 62 84
37 59 78 62 87 59 81 62 84
36 58 74 61 85 58 75 61 81
35 58 74 61 85 58 75 60 79
34 57 71 60 81 57 69 59 76
33 56 69 59 79 56 65 58 74
32 55 67 58 76 55 61 57 71
31 54 65 57 74 54 57 56 69
30 53 61 56 71 53 53 55 66
29 53 61 55 68 52 50 54 64
28 52 58 54 64 51 47 53 61
27 51 56 53 671 50 44 52 58
26 50 53 52 58 49 41 51 55
25 49 51 51 54 48 39 51 55
N EEE g R e
E5T EEds | WS | mads | WES] | mEE4 | WES| | BEEEs | HES
50 71 100 73 100 71 100 67 99
48 70 99 71 100 69 100 66 97
47 69 99 70 99 68 99 65 94
46 68 98 69 99 67 98 64 92
45 67 98 68 98 66 97 63 89
44 66 95 67 97 65 94 63 89
43 66 95 66 96 65 94 62 85
42 65 93 65 95 64 91 61 82
41 64 91 64 92 63 89 60 78
40 63 89 64 92 62 86 60 78
39 62 85 63 89 61 83 59 74
38 62 85 62 87 60 81 58 71
37 61 81 61 84 59 76 57 68
36 60 79 60 81 59 76 57 68
35 59 76 59 79 58 72 56 65
34 58 73 58 75 57 69 55 63
33 58 73 57 71 56 67 54 60
32 57 69 56 67 55 64 54 60
31 56 66 56 67 54 61 53 57
30 55 64 55 62 53 58 52 56
29 54 62 54 60 53 58 51 53
28 53 58 53 57 52 54 51 53
27 53 58 52 54 51 52 50 50
26 52 55 51 51 50 49 49 49
25 51 54 50 49 49 47 48 46
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4. ZHNE G9E 2&E¥s A GFH
E— e T SAIAT

=of 23 Ers =of 23 =7
426 - - - 134.0 145.0 147.0
425 - - - 134.0 145.0 146.0
424 - - - 1335 145.0 145.5
423 - - - 133.5 144.0 145.5
422 - - - 132.7 145.0 144.3
421 - - - 1334 144.1 1434
420 - - - 131.6 145.0 143.4
419 - - - 131.9 144.4 142.6
418 - - - 132.0 1439 142.1
417 134.0 139.0 144.0 131.9 143.8 141.3
416 133.0 140.0 143.0 132.0 143.9 140.1
415 132.0 142.0 141.0 131.1 143.4 140.5
414 132.0 142.0 140.0 130.9 143.3 139.8
413 131.0 145.0 137.0 130.9 142.5 139.6
412 130.0 140.5 141.5 129.7 143.2 139.1
411 129.7 138.0 143.3 130.0 142.7 138.3
410 130.0 139.0 141.0 130.0 141.8 138.2
409 1314 137.8 139.8 1294 142.4 137.2
408 129.7 140.0 138.3 129.5 141.3 137.2
407 130.0 138.3 138.8 129.1 141.0 137.0
406 129.5 136.8 139.8 129.2 139.9 136.8
405 131.0 137.0 137.0 128.5 140.5 136.0
404 1294 135.5 139.1 128.6 140.2 135.3
403 128.5 134.9 139.6 127.9 139.7 1354
402 127.3 136.0 138.8 128.2 139.6 134.3
401 127.5 135.8 137.7 127.1 139.1 134.8
400 128.7 134.9 136.5 127.2 138.9 133.9
399 128.6 134.5 135.9 127.4 138.8 132.9
398 127.6 134.3 136.1 127.4 138.0 132.6
397 126.9 135.0 135.1 126.4 137.9 132.7
396 128.1 131.7 136.2 126.8 137.3 131.9
395 127.6 132.2 135.2 126.2 136.8 132.1
394 127.8 132.3 133.9 125.8 136.4 131.8
393 126.6 132.3 134.1 125.4 136.5 131.1
392 126.3 131.5 134.2 125.9 135.8 130.3
391 125.6 130.2 135.2 125.1 135.4 130.5
390 125.6 131.4 133.0 125.2 134.9 129.9
389 125.3 130.0 133.7 124.9 134.7 1294
388 125.6 128.6 133.8 124.2 134.2 129.5
387 125.0 128.9 133.1 124.6 134.1 128.3
386 124.9 128.9 132.2 124.2 133.2 128.6
385 124.3 128.0 132.7 123.7 133.6 127.7
384 124.0 128.3 131.7 123.7 132.7 127.6
383 124.7 126.3 132.0 123.1 132.6 127.3
382 124.2 127.1 130.7 123.6 131.8 126.6
381 123.9 126.2 130.9 123.2 132.1 125.7
380 123.3 126.0 130.7 122.4 131.5 126.1
379 122.7 126.5 129.8 122.4 130.9 125.7
378 122.5 125.7 129.9 122.0 131.2 124.7
377 123.1 124.6 129.2 121.7 130.9 124.4
376 122.9 123.8 129.3 121.9 130.3 123.8
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— AHEt S AIRE e SAIRE
=er e =0f 3 BT Z0f +3 BT
375 1224 123.6 129.0 121.3 130.0 123.7
374 121.6 123.7 128.6 121.9 129.3 122.8
373 121.6 122.6 128.7 120.7 129.4 122.9
372 121.9 122.4 127.7 120.9 129.0 122.1
371 121.2 122.2 127.6 120.3 128.4 122.3
370 121.2 121.1 127.7 120.5 127.9 121.6
369 120.6 1215 126.9 120.2 127.4 121.3
368 120.3 120.6 127.2 119.7 127.9 1204
367 1214 119.7 125.8 119.6 127.0 1204
366 119.9 1195 126.6 118.9 127.3 119.8
365 119.9 119.4 125.7 119.1 126.7 119.2
364 119.7 119.4 125.0 119.2 125.9 119.0
363 119.3 118.4 125.3 118.7 126.0 118.2
362 118.7 119.0 124.2 118.6 125.6 117.8
361 118.8 1174 124.8 118.1 125.2 117.7
360 118.8 117.2 124.0 118.0 125.0 1171
359 118.3 116.6 124.0 117.7 124.4 116.9
358 118.2 116.1 123.6 1171 124.3 116.6
357 117.7 115.7 123.6 116.9 124.0 116.1
356 118.3 115.7 122.0 117.3 123.9 114.8
355 117.7 114.6 122.7 116.6 123.3 115.1
354 117.5 114.5 1221 116.3 123.2 114.6
353 1171 113.8 122.1 116.2 122.8 114.0
352 116.8 1133 121.9 1155 123.0 1134
351 118.1 111.6 1214 115.0 122.4 113.6
350 116.5 111.6 121.9 115.8 121.5 112.6
349 117.0 112.0 119.9 115.2 1211 112.7
348 116.6 111.3 120.1 114.6 121.4 112.0
347 115.3 112.5 119.2 115.1 120.7 111.2
346 115.6 110.6 119.7 114.0 120.5 111.5
345 116.2 109.5 119.3 113.7 120.4 110.9
344 115.1 109.1 119.9 114.1 119.6 110.3
343 114.9 109.2 118.9 113.1 119.2 110.7
342 114.3 108.1 119.5 1134 118.8 109.7
341 115.0 106.8 119.2 112.9 119.0 109.1
340 115.0 106.6 1184 113.6 118.1 108.3
339 114.3 107.2 117.5 1134 118.2 1074
338 115.1 105.7 117.2 112.2 117.3 108.5
337 1143 104.3 1184 111.8 118.0 107.2
336 113.8 105.0 117.2 1124 117.6 106.1
335 1141 1054 115.5 112.2 116.4 106.4
334 1134 103.9 116.8 110.9 116.5 106.6
333 1134 102.7 116.9 110.8 117.9 104.3
332 112.2 103.5 116.3 110.6 117.2 104.2
331 113.6 100.9 116.5 110.4 116.4 104.2
330 112.6 101.5 115.8 109.2 116.0 104.8
329 113.7 100.6 114.7 1104 114.6 104.0
328 113.1 100.0 114.9 109.3 114.7 104.0
327 1115 99.5 116.1 110.6 113.7 102.8
326 110.8 100.8 114.4 109.4 114.1 102.5
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o
VEDESS MES AR HESA

=of 23 Ers =of 23 =7
300 - - - 100.0 100.0 100.0
299 - - - 100.0 99.9 99.1
298 994 99.2 994 99.5 99.7 98.9
297 100.0 98.5 98.5 99.1 99.3 98.5
296 99.0 98.0 99.0 98.9 99.4 97.7
295 98.9 98.3 97.8 98.7 99.0 97.2
294 98.6 97.3 98.1 98.3 98.8 96.9
293 98.1 97.0 97.9 97.9 98.8 96.3
292 97.4 96.6 98.1 97.8 98.4 95.8
291 97.3 96.5 97.2 97.4 98.3 953
290 97.7 95.2 97.2 97.1 98.0 94.9
289 96.6 95.7 96.7 96.9 97.6 94.5
288 96.8 94.9 96.2 96.7 97.8 93.6
287 96.3 94.9 959 96.2 97.1 937
286 96.5 94.1 95.3 95.5 97.4 93.1
285 96.1 93.0 96.0 95.7 96.9 92.4
284 96.6 93.6 93.8 95.2 96.7 92.1
283 95.6 91.6 95.8 94 .4 96.0 92.6
282 94.2 92.2 95.6 94.0 95.8 92.2
281 95.7 90.9 94.5 94.0 95.5 91.5
280 94.3 91.4 94.3 934 95.6 91.0
279 93.5 89.8 95.6 933 95.0 90.7
278 94.4 89.4 94.2 92.9 94.5 90.5
277 95.5 89.4 92.1 92.9 95.1 89.0
276 92.8 89.7 935 92.0 94.6 89.5
275 91.1 90.1 93.7 91.2 94.9 89.0
274 91.9 89.0 93.1 91.7 94.1 88.2
273 933 85.7 94.0 90.1 94.7 88.2
272 91.2 89.0 91.9 90.8 93.3 879
271 91.8 86.6 92.6 90.8 93.2 87.0
270 91.7 86.9 91.5 89.4 93.7 86.9
269 89.8 86.0 93.2 89.5 93.0 86.5
268 92.4 83.5 92.1 88.2 92.9 86.8
267 89.6 85.8 91.6 88.2 92.5 86.4
266 89.4 85.6 91.0 89.2 91.0 85.8
265 89.2 84.1 91.7 88.4 91.5 85.1
264 90.3 83.6 90.1 87.6 92.0 84.4
263 89.6 83.3 90.0 87.8 91.9 833
262 88.6 83.8 89.6 87.6 91.0 833
261 86.7 84.4 89.9 86.4 90.3 84.2
260 86.7 83.0 90.3 86.7 90.7 82.7
259 87.2 83.3 88.6 85.6 91.1 824
258 87.3 80.1 90.6 86.8 89.9 81.3
257 89.8 80.4 86.8 84.0 90.1 83.0
256 88.6 794 88.0 84.2 89.4 824
255 88.2 78.9 87.9 84.4 89.9 80.7
254 87.0 779 89.1 84.2 89.2 80.5
253 86.5 78.2 88.3 83.6 88.8 80.5
252 85.3 78.8 87.9 83.3 89.1 79.6
251 87.8 75.6 87.5 84.0 87.5 79.5
250 84.9 77.0 88.1 84.2 87.8 78.0
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249 84.6 76.8 87.7 81.6 89.0 784
248 83.1 77.5 87.3 80.7 88.0 79.3
247 84.7 76.5 85.8 80.0 87.7 79.3
246 83.0 76.9 86.1 83.0 87.2 75.8
245 84.2 74.3 86.5 814 87.5 76.2
244 814 76.9 85.7 81.7 86.6 75.7
243 81.7 74.1 87.2 80.7 86.7 75.6
242 84.4 734 84.2 77.6 88.4 76.1
241 80.2 73.9 86.9 80.3 85.3 754
240 82.3 74.0 83.7 78.6 87.4 74.0
239 80.0 72.2 86.9 78.3 86.6 74.1
238 81.1 72.6 84.3 75.7 86.8 754
237 78.6 73.5 84.9 78.2 84.5 74.3
236 82.0 72.8 81.2 80.8 81.2 74.0
235 81.5 69.7 83.8 76.2 86.1 72.7
234 81.5 68.3 84.2 764 84.4 73.2
233 78.7 70.2 84.0 76.6 84.3 72.1
232 79.6 70.2 82.2 75.3 84.7 72.0
231 79.7 68.9 824 774 83.0 70.7
230 79.1 68.1 82.8 74.9 81.9 73.2
229 76.8 67.7 84.5 74.0 83.7 714
228 78.7 68.7 80.6 74.9 81.6 71.5
227 76.6 68.0 824 71.8 82.5 72.7
226 76.7 68.8 80.5 74.7 81.1 70.1
225 75.5 71.1 784 72.7 80.5 71.8
224 75.6 67.9 80.5 72.2 82.1 69.7
223 76.1 67.0 79.9 73.7 82.2 67.2
222 78.6 64.0 79.4 72.2 80.9 68.8
221 73.0 68.0 80.0 71.3 814 68.4
220 75.2 66.9 779 70.9 80.4 68.7
219 74.6 62.9 81.5 69.8 80.3 68.9
218 72.7 64.3 81.0 74.1 79.0 64.8
217 77.3 65.0 74.7 71.0 79.0 67.0
216 72.8 64.5 78.7 714 78.5 66.1
215 74.1 62.9 78.0 72.9 77.7 64.4
214 774 56.1 80.5 70.7 78.0 65.3
213 73.3 61.9 77.8 71.5 77.1 64.5
212 69.1 64.0 79.0 70.3 77.9 63.8
211 70.6 59.0 814 68.5 79.3 63.3
210 72.8 591 78.1 70.0 77.4 62.6
209 714 58.7 78.9 66.8 78.8 634
208 66.2 65.0 76.8 67.5 75.1 65.3
207 70.9 62.1 74.0 67.8 77.8 61.4
206 69.9 56.9 79.2 65.5 78.3 62.2
205 71.3 58.0 75.8 65.2 76.5 63.3
204 71.0 53.8 79.3 64.2 80.0 59.7
203 68.5 59.5 75.0 66.0 76.0 61.0
202 73.5 524 76.1 69.0 74.9 58.0
201 73.0 53.1 74.9 63.7 75.4 62.0
200 60.4 62.9 76.6 68.4 73.2 58.5
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6. 2023 5 X H|E CfH| EEHS/MEEE)

o9 R ) ST0)
LS A Ers

HIE%) |mz®4| wEe | Bx¥$ | WEY |ZZE4 | #wEgy | 2xys | wEY
0.1 402 294 416 299 276 200 288 200
0.2 398 292 413 298 274 200 285 200
0.6 392 285 407 295 270 198 280 198
1.0 388 281 404 293 267 197 277 197
17 383 276 399 290 264 195 273 195
2.1 381 273 397 289 263 193 271 194
3.1 377 267 393 285 260 191 268 192
4.3 373 262 390 281 258 188 265 189
5.0 371 259 388 279 257 187 263 187
6.3 367 253 384 275 255 184 261 184
7.0 365 251 383 273 254 182 259 183
8.5 362 245 380 269 252 180 257 180
9.4 360 242 378 267 251 178 256 178
10.0 359 240 377 265 250 177 255 177
11.0 357 237 375 263 249 175 253 175
12.0 355 235 374 261 248 173 252 174
135 352 231 371 258 246 171 250 171
15.0 349 227 369 254 245 169 248 169
16.5 346 223 367 251 243 166 247 166
17.2 345 221 366 250 243 165 246 165
18.7 342 217 364 247 241 163 244 163
19.8 340 214 363 245 240 161 243 161
22.1 336 208 360 241 238 158 241 158
25.3 331 201 357 235 236 153 237 153
27.2 329 197 355 232 234 151 235 150
30.2 325 191 351 227 232 147 233 146
33.1 321 186 348 222 230 143 230 142
36.5 318 180 344 216 227 139 227 138
40.1 314 174 340 210 225 135 224 134
44.0 310 168 336 204 222 130 221 129
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39.7%0| A 45.4%=2 0| O =0 Aoz Holrt

Eoh Bl Ao It=md FM QY HWE SHME XA 40| 7S 2 =olgt
= ULt B FHE2 nt=Y=E X0 20t=7tX|] MEHO| Jhserhl 2o 21ts MEHX}
(431,788Q)7} EFL A MENX}433,374F)2| 99.6%= AHX|St7| 20| 23K AMEH/DHEF Tf
9 M A E HUoZ LR = Q/AZ FHIUCL O[0f et AR SA[X= <
4™ 49 ML ZO|E BtH IMEN SA|Xbs 2 4 gEHY O|& SRACH MELO 2 20
AMEOl 50t Ao HlsH A =X LUX|T XEFHo=Z XAHAH MOl FIME
Ho| /ASE & == ULCL Ol X|Ltsl <o otE Mo 0|0 2di= 2, MZO s
2 et MMEAAY Aottt Cr AMEE0] XHHA XHHH HAZE 427t
AN M=M= sd0o| 3A 50t 20| F=E QPlez HOIC}
[E I-3] 2022~2023StA: =5 MEd HAHH SA|XI £ Hw
=0 =gt Coe
T ST} ol0{9} L1 3= n |3 . " A9 ] ]
X2 oA =7 ojxz 7|5t = i 1=,
2022 312,691 | 133,889 | 222,011 | 170,484 | 37,304 | 445562 | 220,962 | 212,030
[70.0%] | [30.0%] | [51.6%] | [39.7%] [8.7%] (99.4%) | [51.0%] | [49.0%]
2023 289,565 | 156,478 | 206,863 | 194,798 | 27,305 | 444,887 | 216,534 | 216,840
[64.9%] | [35.1%] | [48.2%] | [45.4%] [6.4%] (99.4%) | [50.0%] | [50.0%]
=4 v23,126 | A22,589 | V15,148 | 424,314 | V9,999 V675 v4,428 | A4,810
=) [ 12 EAIE HE2 oiE E9 ™A SAIX} OfH| H=
F=2) AR, MHEF A QIRIOIAM AL+ 0FEF AR Zb2E HEHN kst
Jd2|n g Folol MEY SAIX 5 2U, IS £ M40 I O FEHT AS B
2 QUTE AFEOIME Mt 82, ARIR82, IHEME XTatstT, MY 1S Me
oF H[82 =0jth 8t 0| @ It5=2 U&EE ME H|Z0| =L
[E I-4] 2022~20238tHx: B EY At5H SA|X} = H
Ab3| Bt hpster
2022 2023 2022 2023
T2 H T2 H
S og |Hg | o |y | T olgl [wg | ag | HE
MEa 28| | 136,793 | 31.0 | 142541 | 33.0% | K|St 1 | 136,541 | 32.2 | 146,060 | 33.7%
AMS|-23F | 127,482 | 289 | 127,189 | 29.4% | MHIIST | 134,726 | 31.8 | 140,978 | 32.5%
st x| g 41,893 | 95 34,489 | 8.0% 3tst1 73,582 | 174 | 70,745 |16.3%
2|2t A | 31,399 | 71 34,226 | 7.9% Ea|st1 62,509 | 14.8 | 62,309 | 14.4%
MIAIX| 2] 31,221 7.1 25,980 | 6.0% | AMHalstmg 6,515 1.5 4,939 1.1%
x| e 26,007 | 59 | 25682 | 5.9% st 3,317 0.8 2,841 | 0.7%
ZO}A|OFAF | 23,053 52 | 20413 | 47% | X|Fatsto 3,570 0.8 2,758 | 0.6%
MIA A 17,552 4.0 16,457 | 3.8% Ealstno 3,006 0.7 2,628 | 0.6%
aH 5,495 1.2 4927 | 1.1%
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@ Hagl

0 - M CfH| x| A3 Qe 50 HHE SFoLFICt
£t - MA CfH] 153 s AR A7t SUX| A fshoA HERZ JHE £+ QUCh
FMQA EEEUE 0t 3 29 Y 22X E MEEH J09] ZL 20228tH L
of BFE~1855 2t M3 XOo|= 18™2 2 10| sist= QA2 17,914H0|A =0 2023
HEol= M4 KO0l 8Ho=Z ZEOjE HtH, g Q2 19858HCZ &1 TUH™EX
T 28HOAM 371HoZ FIA =UCL 2 20228tHZ0| UA™~153 72 M X0|=
10822 10 sieste A2 18,031HOIYR D 20238t H 0= 1278 XIO|2 O|0f s}
£ Q{2 22571HOZ 47t SACL Lot THEX = IAA UKL 1530 SHEst=
Ql2I0] E0{t Ao 2 =Ql=IC}
Z =0l MU O] 188 72t 3 X0l &R siste A2 A E0M 182
M ZF BHEHE0| SOtACt vt 2 M| OfH] 153 ZF == X10|7} 2™ "Ho{R1
OFEX = EQUCE 1520 siYst= Q0] MUA O S0Lt7|= WX|2F IAH =X|&=
UN7| 20 X|AMQHO| HEHL2 £SHOA MZ AO|Ct
[ I-8] 2022~2023Std: =0, st EEH™S+ 0¥ ~155 55 QU Hlw
BEEHES = =0 = = & -
20228tE 20235t 2022stH 2023stH

149 28

147 61 2702

146 128 2726

145 241 2,930 934

144 395 6,450 -

143 727 645 154 | 1017

142 984 6,612 °JH 3,078

141 1,528 9,921 (103) -

140 1891 1o 11,377 3140 13

139 2,748 (18%) 11,537 7,346 °©

o | a2 (12%)

138 3,651 | 12,907 S =

137 4,606 18,031 7,483

136 6,050 18,245 13,942

135 7,677 20,468 14,686

134 9,812 371 26,552 15,005

133 11,862 1,124 26,778 22,571

132 14,575 1,368 27,884 25,501

131 17,914 3081 424 36,597 26,139

130 20,598 4,985 o= 37,637 33,005

129 24679 6,764  (89) 38922 39367

128 29,499 10,910 44.922 40,713

127 33,431 14,596 49,948 46,410

126 38,635 19,858 52,283 56,277
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ey 2022stH 2023std & 2022std & 20238tH
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g 28 - 371 2 2,702 - 934 =
o™ ~1582| 17.886 994 19,487 2,436 15,329 1,533 21,637 1,803
1~2583 32,561 4,652 31,160 7,790 31,917 3,192 33,706 4,815
2~353 59,289 7411 51,869 10,374 49,185 4,919 43,429 6,204
3~45 3 69,678 8,710 76,497 10,928 72,891 6,626 72,544 6,045
4~553 90,848 8,259 92,636 8,421 88,933 6,352 89,600 5,600
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[E I-3] 2022~2023 =|A2| 97 CHS ™HA| 5 P MY QA H|E) Hl (=Y e 7|F)
x| A2 97l cHEt =9 67 chst
Chst 2022 2023 Cysty 2022 2023
T | og BEHI[ oo Teom| 3 T | g BAHI[ oo TOH| 3
= Hl% rilrc | Hl‘% = HI-% rdlirc ng_
A3t | 2007 37.7% | 2,176 409% | A169 | ZHILH | 1359 40.7% | 1,361 407% | A2
et | 1,715 40.8% | 1,740 40.7% | A25 | S3CH | 1,257 407% | 1,254 407%| V3
Mzl 696 413% | 715 41.0% | A19 |M2AMECH 749 406% | 873 47.7% | A124
MEcCH | 1,052 304% | 1,400 40.3% | A348 | SHOCLH | 844 350% | 998 40.9% | A154
MR | 1,448 401% | 1,475 40.8% | A27 | St=ICH | 752 424% | 758 426% | A6
HAMICH | 1,517 40.8% | 1,534 40.8% | A17 Zolry 923 344% | 887 33.0%| V36
olgtodcy | 1,105 333% | 1,133 33.7% | A28 | =2 67| o o | A247
SUC| | 1,557 31.2% | 2,023 40.7% | A466 |CHst €4 >884 389% | 6,131 40.4% (4.2%)
SHQFCH | 1,318 40.7% | 1,336 40.8% | A18
Z %l 97H o o | A1117 [EREY o o, | A1,364
cHer 3t 12,415 37.0% | 13,532 40.0% 00% R 18,299 37.6% | 19,663 40.2% (7.5%)
Tt OISt A Y ™HAIRE M Q2 MUE CiH| 142F =0 = 2,606F2 Mg oFHO|
Ct. SSHEH K& AX Chet o-ofZtz Aol X|HRIXY o|F M H[Z0| 30%0A 40%=
SOILIHA L& OfstoAM X|HOIXY M H|lE2 =0|7] sl HAl Lt Mol MY ¢l
2 FAIQ] X[HOIXY M ooz HI|IHM HARY A27F AF FALZQUCEH 2Lt
TS| 40% Fro| CIAE FAIZ MEstn ooz XA XM H sALS2 GAE
stz{o| 7|32 gH0| Eojof Bir}
[E I-4] QStAIY 2022~20238tEE B QlQl H|m (el -
chst 2022SHA & 20238HH £ Al
T 3 st =S = St 2 x o
4 | 2AH | A | BA U o A4 | Al | EA b 4 o | ol
o|cy 39 |3,013|1,808|1,205| 595 420 190 |3,014|1,857 | 1,157 | 549 466 142 | v48
Xjejcy | 11 631 | 359 | 272 | 122 130 20 | 630 | 370 | 260 | 88 152 20 | w12
Sto|cf | 12 | 724 | 426 | 298 | 62 165 71 | 715 | 475 | 240 | 49 135 56 | Vw58
O | 10 | 497 | 307 | 190 | 120 49 21 | 496 | 304 | 192 | 104 68 20 | A2
oFL 37 |1,743| 960 | 783 | 353 370 60 |1,746| 989 | 757 | 325 376 56 | v26
N 3,860 | 2,748 3,995 | 2,606
stAl 6,608 1,252 1,134 362 | 6,601 1,115 1,197 294 | v 142
(58.4%)|(41.6%) (60.5%)|(39.5%)
F) Al U OHA| XQOIX] Myt olgl meto|n] FHA| Mgt olfle 44| o|2S HQEH Mgt A olgl 7|EY
ACH7L HiEXet 22 Fo MY ©ME AHo| st E82 % 7|99 =27 SIIStHA,
2023 A0 CHState| RS SS9t HEAA A AHefstutr O MAE QUL SHEO= 1
{CH AtO|E{=ebstatet 20| FYdr HA = X4 CHst AYstozt JUAKX|TE O F27¢
3X| &40t 20| HX| A(}CE OAH 20232 EHE0= =L CHEQl 2{rf, MZCH, AMICH,
otYLl, 7I0|AE, ZAHIOA HEBHADE ALSE MAMT ZmAH QO] LIHX| CHEHO|
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S0l 2= A7t 7 3A EoZR 2R = QAEAE 1647, AAAH = 9™ O|UALE
Ab/IE RS =5 MY B Q9 37H0 [ME o= HX0| dtgfst Aoz ZAMEIC)
O30l 2022stA e ERt HYo| SA[ QIR0 ALER2 20218tEHEQ H[YSLE MtEF2
2021t HE EO) SA| QIR0| A 50 =5 M X QR F710f [ME FHFHIS AtE
HrChs B ob AFGI RRERIQ BT HX0| 12 RICHY BT MHMHCHE AEO
2 HO Tl Hdez HOQICH
[E I-6] 2021, 2022 ™HA| 5 HE SAX WES M=+ X0
olZ XA
T
=0 =gt HE g =0 =gt Eoy g
He #Hg 04 {44 &L 44 {440 Tt {L &
ALY | v6.2~v09 | V46~v0.3 |V595~v145[v3.94~v0.92] V5~al A2~A71 | VA48~A24 | V1.16~A18
".5_|‘%!‘EH V4~ A2 Vo~ Aal10 vV10.5~v15 | v53~v2.25 Vi~ Al A2~ AT V3~ A3 V2.2~ A2.05
%%‘EH V7~ A25 v6~0 V16.4~v2.25| vV6.2~Vv2.8 V15~v2.4 A5~ A7 vV73~A05 | v6.43~v0.7
7.;|E'EH VT~ AT v13~v5 vV11.5~v2 |Vv6.13~v0.97 v14~0 A3~A14 vV9~v0.5 |Vv3.37~4A283
CHCY V7~V1 v20~v13 | v9.5~v05 |V7.33~v5.34] v15~v3 0~A12 V6~v1 V15~a4
F) WYY EEEHOIC| 7Hwww.adigakr) 7|& ZBSEA SFE 70% cut S
[E I-7] 2021, 20228t HA| =5 A XESEX WES M=+ %o
X YYEZEO O 7 www.adigakr) 7|& ZESEA SHE 70% cut HY(QALSAE H <)
MQl/stolsta Y@ 20228t E B 4N 7|FY
[
TE Sxche| 2021 2022 2022-2021 H+ 0|
(2022 7| ) U 3 > 2"z |3 + ® H2| m2 =+ © | B
Are) ZH| 97 96 94.6(9587| 96 95.7 90.85/9495| v1 w03 v3.75|v0.92
:;Ii z4g 98 99 95 |97.33| 97 95 896 (9433| v1 w4 v54| v3
ol Y 96.9 987 95 |96.87| 96 95 91.1|94.1|v09 w37 V39 |v277
= sl St ALStH 982 96 9491|9637 92 95 8895/9243|v62 V1 v595|/v3.94
37; otE st 97 96.6 90.1|94.57|94.6 92 88.65|92.27| v24 w46 wv145| v2.3
o2 99 92 92 |94.33| 93 904 892 (92.17| v6 V16 w28 |v2.16
Ate] XS 97 96 939(9563| 98 99 91 (9647 A1 A3 V29 |A084
:;H OO|E{atst | 964 94.8 91.5(9423| 96 989 89.5(9532| V04 a41 v2 |a1.09
Xt Se0|HX|E | 97 96 864(93.13| 96 98 8881|9493 V1 A2 A24| A18
%l stel MEZ 97 93 927/9423| 92 96 879 (93.07| v5 A3 V48 |v1.16
37TH S 96 90 90 | 92 |95.2 964 858 (93.03| V0.8 A64 V42 |Aa103
StAMElE 1972 88 90.6(9193| 93 951 87.6(92.83| v42 A71 V3 | A09
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